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Plotting a Gaussian Density Function

Providing the probability that X takes a value between x1 & x2
Feb 29, 2008

Engin 322

clear all

close all

syms fx Fdist x;

var=1000; %variance

sigma=sqrt(var); % standard deviation

xbar=0; % mean value of the random variable

%Gaussian Density Function

fx=1/(sqrt (2*pi) *sigma) *exp (- (x-xbar) *2/ (2*var)) ;

%$Interval

x1=-100;

x2=100;

$Distribution Function: by integrating the Density Function
Fdist=eval (int (fx,x,x1,x2))

$Plotting the Density Function

clear fx x;

X=-200:200; . _
fx=1/(sqrt(2*pi) *sigma) *exp (- (x-xbar) .*2/ (2*var));
plot(x,fx), title(strcat ('mean=', num2str (xbar), ';
variance=',num2str (var), ';probability of X having a value between
',num2str(x1l),' and ', num2str(x2), ' is ', num2str (Fdist)))
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clear all
close all
syms fx Fdist x;

var=1000; %variance
sigma=sqrt (var) ;
xbar=0; %

%Gaussian Density Function

Plotting a Gaussian Density Function
Plotting the Distribution Function

w/.,f.'! X- 20
L"&(D) (an

% standard deviation
mean value of the random variable

fx=1/ (sqgrt (2*pi) *sigma) *exp (- (x-xbar) “2/ (2*var)) ;

$Interval
Xx1=-10000;
X2=-100:100;

Dkie 4 E:ﬂv:: 0»5_

'w/u(‘?pO?\
L $n4¢ZZiL JZ;Jn 0-5— ?

$Distribution Function: by integrating the Density Function

for j=1:201;

Fd(j)=eval (int (fx,x,x1,j-101)) ;

end

$Plotting the Distribution Function

figure (2)
plot (x2,Fd),

title(strcat ('mean=',num2str (xbar), ';

variance=',num2str(var), 'Distribution Function'))
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